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Large and Small Magellanic Clouds
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LMC:  𝑟) = 49 kpc, 𝑣5 = 290 km/s, 𝑀 = 2×10() 𝑀⊙, Λ ∼ 50

⇒ 𝑡"" = 2.5 Gyr

SMC:  𝑟) = 57 kpc, 𝑣5 = 240 km/s, 𝑀 = 2.5×10G 𝑀⊙, Λ ∼ 300

⇒ 𝑡"" = 1.6 Gyr



M51
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LMC:  𝑟) = 49 kpc, 𝑣5 = 290 km/s, 𝑀 = 2×10() 𝑀⊙, Λ ∼ 50

⇒ 𝑡"" = 2.5 Gyr

SMC:  𝑟) = 57 kpc, 𝑣5 = 240 km/s, 𝑀 = 2.5×10G 𝑀⊙, Λ ∼ 300

⇒ 𝑡"" = 1.6 Gyr

M51:  𝑟) = 10 kpc, 𝑣5 = 200 km/s, 𝑀 = 5×10() 𝑀⊙, Λ ∼ 10

⇒ 𝑡"" = 50 Myr



M81/82



M82
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𝑀
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=(

LMC:  𝑟) = 49 kpc, 𝑣5 = 290 km/s, 𝑀 = 2×10() 𝑀⊙, Λ ∼ 50

⇒ 𝑡"" = 2.5 Gyr

SMC:  𝑟) = 57 kpc, 𝑣5 = 240 km/s, 𝑀 = 2.5×10G 𝑀⊙, Λ ∼ 300

⇒ 𝑡"" = 1.6 Gyr

M51:  𝑟) = 10 kpc, 𝑣5 = 200 km/s, 𝑀 = 5×10() 𝑀⊙, Λ ∼ 10

⇒ 𝑡"" = 50 Myr

M82:  𝑟) = 40 kpc, 𝑣5 = 200 km/s, 𝑀 = 5×10G 𝑀⊙, Λ ∼ 10

⇒ 𝑡"" = 7 Gyr
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